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Model AIME 2024 MATH-500 Dlimead Hench CodeForces
pass@l cons@64 pass@1 pass@1 pass@1 rating
GPT-40-0513 93 134 74.6 499 329 759
Claude-3.5-Sonnet-1022 16.0 26.7 78.3 65.0 389 717
OpenAl-ol-mini 63.6 80.0 90.0 60.0 53.8 1820
QwQ-32B-Preview 50.0 60.0 90.6 545 419 1316
DeepSeek-R1-Distill-Qwen-1.5B 289 527 83.9 33.8 16.9 954
DeepSeek-R1-Distill-Qwen-7B 555 833 928 49.1 376 1189
DeepSeek-R1-Distill-Qwen-14B 69.7 80.0 93.9 59.1 53.1 1481
DeepSeek-R1-Distill-Qwen-32B 72.6 833 94.3 62.1 57.2 1691
DeepSeek-R1-Distill-Llama-8B 50.4 80.0 g89.1 49.0 39.6 1205
DeepSeek-R1-Distill-Llama-70B ~ 70.0 86.7 94.5 65.2 57.5 1633
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from datasets 1mport load dataset

# Load the dataset

dataset = load dataset("Magpie—Align/Magpie—Reasoning—V2-250K-CoT-Deepseek-R1-Llama—70B",
]

dataset = dataset[”train”]

# Format the dataset
def format instruction(example) :
return f{
“text”: (
”{|user | >\n”
7 {example[ instruction’ ]} \n”
”<|end|>\n”
”{lassistant|>\n”
7 {example[ response’ ]} \n”
"{|end]|>”

formatted dataset dataset. map (format instruction, batched=False, remove columns=subset

formatted dataset

= formatted dataset. train test split(test size=0.1) # 90-10 train—test
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output dir=". /phi—-3-deepseek—finetuned”,
num train epochs=3,

per device train batch size=2
per_device eval batch size=2,
gradient accumulation steps=4,
eval strategy="epoch”,

save strategy="epoch”,

logging strategy="steps”,
logging steps=50,

learning rate=2e-5,

fplo=True,
optim="paged adamw 32bit”,
max_grad norm=0. 3,

warmup ratio=0.03

Ir scheduler type="cosine”
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from trl import SFTTrainer

from transformers import DataCollatorForLanguageModeling

# Data collator

data collator = DataCollatorForLanguageModeling(tokenizer=tokenizer, mlm=False)

# Trainer

trainer = SFTTrainer (
model=model,
args=training args,
train dataset=formatted dataset[”train”],
eval dataset=formatted dataset[”test”],
data_collator=data_collator,

peft config=peft config

# Start training
trainer. train()
trainer. save model (7. /phi—-3-deepseek—finetuned”)

”

tokenizer. save pretrained(”. /phi-3-deepseek—finetuned”)
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final model = trainer.model.merge and unload ()
final model. save pretrained(”./phi—-3-deepseek—-finetuned-final”)

tokenizer. save pretrained(”. /phi—3—-deepseek—finetuned—final”)
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from transformers import pipeline

# Load fine—tuned model

model = AutoModelForCausallM. from pretrained(
”. /phi—3—-deepseek—finetuned-final”,
device map="auto”

torch dtype=torch. floatl16

tokenizer = AutoTokenizer. from pretrained(”. /phi-3-deepseek—finetuned-final”)

model. resize token embeddings (len(tokenizer))

# Create chat pipeline
chat pipeline = pipeline(
” . ”
text—generation

model=model,
tokenizer=tokenizer,

device map="auto”

# Generate response

prompt = ””"<|user|>

What’ s the probability of rolling a 7 with two dice?
<|end]|>

{|lassistant|>

Ve

output = chat pipeline(
prompt,
max new tokens=5000,
temperature=0. 7
do sample=True

eos token id=tokenizer.eos token id




print (output[0] | generated text’ ])
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<|user|>
What's the probability of rolling a 7 with two dice?
<|end|=
<|assistant|>
The probability of rolling a 7 with two dice can be calculated by finding the number of ways to achieve a s
um of 7 and dividing it by the total possible outcomes when rolling two dice.

Each die has 6 faces, so there are a total of 6 ®* 6 = 36 possible outcomes when rolling two dice. The combin
ations that give a sum of 7 are (1,6), (2,5), (3,4), (4,3), (5,2), and (6,1). There are 6 combinations that
result in a sum of 7.

The probability (P) of rolling a sum of 7 with two dice is therefore the number of successful outcomes (B8) d
ivided by the total number of outcomes (36).
P{rolling a 7) = Number of successful outcomes / Total number of outcomes

P(rolling a 7) = 6 / 36

P(rolling a 7)

1/6

So, the probability of rolling a 7 with two dice is 1/6 or approximately 16.67%.
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<|user|=
wWhat's the probability of rolling a 7 with two dice?
=|end|>
<|assistant |=
<think=
First, I need to determine the total number of possible owtcomes when rolling two dice. Each die has six faces, so the total numbe
r of outcomes is 6 multiplied by &, which equals 36.

Next, I'11 identify the combinations of dice rolls that result in & sum of 7. These combinations are (1, 6), (2, 5), (3, 4), (4,
3), (5, 2), and (6, 1), totaling & favorable outcomes.

Finally, to find the probability, I'11 divide the number of favorable outcomes by the total number of possible outcomes. So, the p
robability is 6 divided by 36, which simplifies to 1/6.
=/think>

To determine the probability of rolling 2 sum of 7 with two dice, follow these steps:
1. ##Calculate the Total Number of Possible Outcomes:=s

Each die has & faces, so when rolling two dice, the total number of possible outcomes is:
A

& \times & = 36

8|

2. #*Identify the Favorable OQutcomes :s

The combinations of dice rolls that sum to 7 are:
}i, 6), (2, 5, (3, 4}, (4, 3}, (5, 2}, (G, 1)
;Lere are a total of:

;:\text{ favorable outcomes}

\

3. sxkCalculate the Probability: s

The probability \{ P \) of relling a sum of 7 is the number of favorable outcomes divided by the total number of possible ocutco
mes:

A

P = ‘frac{\text{Mumber of favorable outcomes}}{\text{Total number of possible outcomes}} = \frac{6}{36} = \frac{1}{6}

Al
*=xFinal Answer:ss

AV
\boxed{\dfrac{1}{6}}
\]
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